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Since they said, from a far land, etc. — 9912) IPINT TORM 1ART 1190

OVERVIEW

The X3 taught that 777 ' derived his ruling that a 799712 1R 2°272 MW 73,
from the story of the 2123, where the 717v7 *X*w1 swore to make peace with them.'
The 312, who disagree with *"9 and maintain that 7775712 ¥°, say that the 7312w was
never effective since it was mistakenly made, for the 01123 claimed that they were
from far away (not from the nmX '7), so there was no need even for 73797, the
reason they did not kill the 2°17w23 1s because of awi nwTp.

nooIN asks:
= M8/ NN HVAY YaW) N NI AWMAY XYM D Y9N INDA 99NN DN

And if you will say; without this issue that they made a false statement (so the

712w was Nyvl); can this ayaw take effect, but it is a 7¥12w to nullify a 73 -
— 211wl 99 NONN Y (10,5 a7 29NT

For it is written, ‘you should not allow any soul to live’ —

Mmoo anticipates a possible solution to his question:
- 9399N3 92 INIY 39 9N YV P99 NPT 31ITWINA 1999NT 22 DY 9N)

And even though that in »%219° 7750 in the sixth pap of nvysaw noon; 1''aws

stated -
= NIND 19399 XYY 1Y HNIY? YN YWIN? NHY MINNNTHIE UHY

Yyt sent three messages to the inhabitants of 3''R before the °"12 entered >''N -
= NNTN DY NNNYN NMYYY 0DY OYTWAY N9 MY NXIY NIV N

Whoever desires to vacate, should vacate; to make peace, let them make

peace; to wage war, let them wage war -
= NPI9ND 791 N9 SWHI)

The nation of "wa=3 vacated and went to R 75N -
= DRI NN )IYI) 22U 1ITYN D) (k) yurnd) TINIY 1IIOVYN DY)

The 2123 made peace as it states, ‘and that the inhabitants of w23 made

peace with bR’ -
=199 NNNIN VY 02991 1NN DIVIY

' Seemingly they could have annulled the 973; this proves that a 7797 12 PX £°272 W I

? Even if the Y%7 "2 would have known that the 2°nwax are from the nvX 't and swore to make peace with them
(so it cannot be considered a nwywa nv1aw), nevertheless their 7712w would be invalid, since they are swearing to
abolish the mx» of 7nw1 73 7°nn XY, that all the people of the N¥X T must be annihilated. A m¥na NR 037 7312w does
not take effect (as the X131 derives in X,1> 2°771).
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Thirty one kings waged war and were defeated; this would seemingly answer the
3
question” -

mooIN rejects this answer:
= NIND 19399 NIV T 9INRPTI 17950 NN IV DN 139N

This offer for peace was only before the >"12 crossed over the 379° as the 5w

stated, ‘before the >"12 entered the land’ -
- ©YHUNY P 1PN NYY YUY 19393uN YaN

However, it seems that once the °"12 entered "X they could no longer make

peace and would have to be killed -
= 1IN2 NPINT YIND 90210 DIIYNY 1998 4‘[351

So therefore the 0°17v23 needed to be sly and say, ‘we came from a far land and
we are not from the NI 7.

MooIN answers:
= DRYI DD NNN RY 2N 0YHYNY DY PPN 5‘[1‘\‘19 Dy 91290 U

And one can say that perforce we must say that when the 770 writes > 71910 8%

mmwa that is only if they do not want to make peace -
- I Y DYYUN KY ONY 790 BIYWY NYIN NP (°5 £2127) INTD SNMNTD

As is evident from the 2°2109; the 2’2105 begin, ‘and you shall call out to her for

peace, etc. and if they will not make peace with you, etc.; the o105 continue —
= 1Y) 95 1NN N 990 DAY 299N P9

Only from the cities of the nations, etc. leave no one alive’ —

nvoIn asks:

? It seems that if the Ny 'T wish to make peace we accept them; therefore if they would have known that they are
from the n¥R '7 it would not be m¥»7 X V27 yawi. This would answer the question.

* mooin is proving that once the *"12 entered *"X the option for peace no longer existed, for if it did exist why was it
necessary for the 0°11w23 to go through this whole charade, they could have merely said we wish to make peace. The
question remains (since there is no option for peace, the M¥» of 7Ww1 3 7NN R remains) so they were NR H027 yaw?
mx¥nn, which cannot be 1; why mention that that it was a mistaken 732w?!

> Mmoo writes '2"Y' because according to this answer it is not understood why the 2°nwax did not merely seek out to
make peace. Possibly they assumed that this offer is only before the >"12 entered >"X, as m»0In assumed previously
(see footnote # 4).

6 1u-> o100 DwoW, reads . Qya 93 M T2 AOND MR oY OX M) X0 .0YH YR DRIP) TRV onva Y DR 279D 02
D7 AT 92 DX IPIT) TR TN AT WP 2 Y DR W7 Ty ANPY) THY DU2WD X9 OX) 20 TN 007 T7 P A KR
227 YD 120 T2 YN MW 103 W TR 20 NS 572K T2 120 AW 92 1Y M W 99) pad qud oW P T A
Y3 2 WD XD 7203 TP W03 T TUT TN APRT DT R P T 0 AN DD 219 XD W TR T NP oy

" It seems that 9o understands X ,> D°P109 to apply to all wars even against the N 1. The difference between
the nwIX '1 and other nations is only if they chose to wage war, in which case by the other nations you make take the
woman and children, but by the N1 '1 the rule is w1 5 7°nn &Y [To 2109 is effective only after 2> p105.].
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- SN0 MYV NIAY INT RN NI 297 NAYY SNN FINN ON)
And if you will say; what is the reasoning of >'' (that he derives from this story
that 71977 17 PX 0°272 7AW 171); but is was certainly a mistaken 72w —

An additional question:
= 9 JEIND 1AW KD (39,55 mnw) 29NN YIND DININ TN ANHNY 2297 T

And furthermore how, according to >''9, did the >"12 allow the 2°11v2) to live in

DX PIR; but it is written, ‘they shall not live in your land, etc.?!
- 1329 Y9INTI NIN DYUN YN DIVN THA3 Y MINNH DX HVAY yaws 7Y 1M

So it is a case of swearing to be Ywa» a mx» which is ineffective, so perforce we
must say like the 3129 say, that they kept the ‘oath’ only because otherwise it
would be a aws 99!

MooIN answers:
- 7own 9950 9373 15D KXY 1991 19 WY RIPN SNT NN %39 43077 MY UN

And one can say; that >''1 maintains that if it is so that a Y» @> 0°272 17w T2
1517, there would not be a 2wt ®¥%91 if they annulled the 171 —

nooIN asks:
= 9)nnY 1PN27 19°2 wﬂ)‘nb )’519’ 1PN 9) OVN 9991 XYa 9NN ON)

And if you will say; even without the reason of awm ®19m, the °"12 could not
have Kkilled the 0°11v23 since they came to convert -

=9 TN INOVNY 19 TYIND 1AW KD (A 91 YD 12999NT
As the Xn™12 stated previously on the 109, ‘they should not settle in your land,

lest they cause you to sin against me’, the xn>>2 states -
=915 ©29)5 NTAY TIAYY XDV 1YY JPY D291 TaI¥a J1D)

I may think that this applies even to a 1931 who accepted upon himself not to

worship idols, etc. so we derive from another P105 that they may remain in the land -
- (3,5 97 70YD) PN YIN 2993 3133 19999IN)
And 1ynw 1 also stated in PPARI YO8 P -
- 9119 MUY DINN 119 XY AUN )uny nvnbn 1Y 1an)

8 It is obvious that this was not a valid 7312w, so the reason the °"13, did not kill the 2°11w23 is not because of the 7v12w
per se (since it is a Myva AY1aw), but rather (as the 0°mdn say) because of awsn nw17P, so how does *"7 derive from
here that 77977 17 X 2°272 70w 771?!

? According to the 1321 there was no valid oath, nevertheless they kept it because of aw:i ?19°; the nations would say
that the >"12 do not keep their oaths. >"3 however maintains that there would not be a awn ?72°n for they can
understand that under certain conditions oaths can be annulled. However if the rule is that a 17 PX 0272 97w 1
797, there would be a owi 712, for people will say since it is a 2°372 97w 771 then even if it is a MYV 97 or V17
m¥nn, etc. it still cannot be annulled, so if the >"12 would not have honored their 712w there would be a awi 217°m.
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And they wrote' on the bottom for (the nations), ‘in order that they should not

teach you to do, etc.
- 2515 NN /T2 XIP NIND N PYAPNRY NIYNA PINN ONY NTIEY XD

You may derive from this that if they would repent that we would receive
them, and that o5 (of 12 X% WX and 1aw° X9) was written regarding the '
NIMIN, the question is why the need to mention awn 217°m —

N1B0IN answers:
- DAY JUNY P9I 150 Z19NY P9I 190 XIY 273 BYN NN INY INT Y5 U

And one can say, that if not for awn 91, so granted that they would not be
able to kill the 2°1w2x (as mdoIN just proved), nevertheless they could have
chased them away from their cities (in which the >"11 lived) —

An alternate answer:
£19 59NN DN 23 2999015 INA XY NYY NMINAT TN

And additionally at that time they did not come to be 9»an» (only not to be
killed), but rather it was only later that they agreed to be “ann.

SUMMARY

The rule of w1 %2 7°nn XY is only if they chose not to make peace. One may not
kill anyone even from the nIX ' if he wishes to be 773nn. There would not have
been a own 77°m according to " if they were able to be 7°9n the 0°272 971w 272

THINKING IT OVER

mooIn writes (in one answer) that indeed they could not kill the 2°17w313, since they
came 73071, but they could have chased them out of the cities.'* However the X713
states explicitly that they did not kill them because of awi nw 7p?!"

10 5 (Dvow) 0.

" This is referring to the n"o which was written on 70 (according to w"1) so the 29w N could learn from it,
vy,

2 See “Thinking it over’.

1 See 0" that the first two questions of Moo assumed this last answer that 730772 W2 XY 7YY 7NK2.

' See footnote # 13.

" See w"wA.
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